M:thin English Brain Teasers level 4 #22

Which option completes this pattern ?
OJORE @
@ [+ &
HRORO,

@@

@

®

www.mathinenglish.com

Which number is missing ?

414
7118
puzzle3 puzzle 4
Which number is the odd What is the value of the
one out ? question mark ?
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M:thin English Brain Teasers level 4 #22

Answer to brain teasers

puzzlel: B
In each row, multiply the 2 diamonds to get the other 2 digits.

puzzle2: 1
The first 2 digits multiplied plus 2 gives the number formed by the

bottom 2 digits in each shape.

puzzle 3 : 32
32 is not a multiple of 12.

puzzle4: H
Each column follows a +2, +3, +4 pattern.
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